NOTE: Make sure enough faucet installation clearance.
AR: MBEBHRLLETE.

300mm

\ )

FINISHED WALL / BACK SPLASH

se LiEE/Rr Ik FEiR

DRILL A ®11 HOLE ON
THE LEFT AND RIGHT SIDE.
EAZH—DO11REA

\

100mm

|
\

\ CUT ALONG THIS LINE /

45mm

ST AE /

173mm

K-26677T
MICA #2352

KOHLER.

CUT-OUT TEMPLATE / INSTALLATION INSTRUCTIONS

SEMI RECESSED VESSEL LAVATORY

FFF AR
YIEIE/ &2 %17 PA B

FRONT RIM OF
THE COUNTERTOP
8 H A%

OUTLINE OF THE PRODUCT/ .

=N R

PN
¢410mm/ N
AN

PN
N

T

LAVATORY FRONT END IS 110mm
OUT OF THE COUNTERTOP

ZaENHEAE S E110mm

No.2 KOHLER ROAD, SANSHUI CENTRAL INDUSTRIAL PARK, LEPING TOWN, SANSHUI DIST., FOSHAN, GUANGDONG, PRC POST CODE: 528137
IHREFELUTHT =KX EEE=KP LTI RXEEIAKE2S Midg: 528137

8# MENGSHAN RD, ECONOMIC DEVELOPMENT ZONE OF HUANTAI, ZIBO, SHANDONG, CHINA  POST CODE: 256410
WREEEHESLFALZXRLESS Hd: 256410

NO.1 KOHLER STREET, ECONOMIC DEVELOPMENT ZONE OF FAKU COUNTY, SHENYANG LIAONING PROVINCE, PRC POST CODE: 110400
T THEILBATEEZFHALXEE#NKE1S H4%: 110400

BEFORE YOU BEGIN

Observe all local plumbing and building codes.

Inspect the waste and supply tubing; replace if necessary.
Prior to installation, unpack the new lavatory and carefully
inspect it for damage. Return the lavatory to its protective
carton until you are ready to install it.

For replacement installations, make sure the existing
cutout is the same or smaller size as the new lavatory.
Use the template supplied with the lavatory to mark
correct size cutout.

Kohler lavatory is made according to American National
Standard that it can match the American lavatory fittings .
Any other lavatory fittings may not fit for kohler lavatory.
Fixture dimensions are nominal and conform to tolerances
established by ASME Standards (A112.19.2-2018).

The product complies with GB/T 6952-2015.

Please purchase 880089-CP for installation if the
operating rod is not long enough.

TOOLS AND MATERIALS
(Not Supplied)

Template(supplied)
Safety glasses
Pencil

Scissors

Tape measure
Putty knife
Plumbers putty
Hacksaw

Keyhole saw or saber saw
Drill (11mm drill bit)
Adjustable wrench
Pipe wrench
Tubing cutter

ROUGHING-IN

Ref

erence Value

5%E

IN

'_\_|>I:|: A S 2

%< LAl

BREMAMESHIKEERANE.

KEFKERMKE, WEREBEERL,

REZH, EABRFRINEE, FNORKEHNRRER

BREHA, BRRENEGEEEN, HRENARA.
EABRBRFRE, TRHARAANESILOSHIRZNTZ
NAERRREEN.
fﬁ%ﬁﬁﬁﬁ%ﬁ%ﬁt%ﬂ%ﬁ,ﬁﬂﬁﬁzmﬁ
L,

M@kl RAERNEFEXERETIEH, SEXERZEMHE
fic. HeklRBREMATHES .

BHERT HIREE . REMEEZEASMEFRE(A112.19.2-
2018),

&= 2754 GB/T 6952-2015,
MBRNITRRELEENRTKELRAR., BAWIEH
880089-CP3k Az & %t ,

s TR R4
(BB RD)

EiR(E1R A
PEREE

RE

57]

HBR

BT

JKE B

N
RILLFEHTFIRER
$H(H 2 H11mmELsk)
JEENIREH

R PR

TIE7]

R<TE

Unit: mm
BA K
108 120
155
T
LLY L

Length | Width | Height | Depth
kK | % | & | &%
Outer

SR | 410 | 410 | 155

Inner
R Rt 399 399 108

Kohler reserves the right to change marked dimensions without prior notice.
MRS REBNZTEEPIRRRTHRA, THATBA.

STALL NEW LAVATORY

Cut the template on the cutout line.

Position the template on the countertop to —

ensure clearance between the lavatory, -
faucet, and backsplash. /

Verify cabinet clearance beneath the /

countertop. |

ot EE A
R R
o BUIBEEMIBIZIIL.
o BUIFEMAERKAE L, BMRERA. KK
N MBAEER = 8 H EBHIER.

\ o ERHEATHHYELERBEHE,

Trace the template on the countertop with a N
pencil. Mark the center hole and two
position of mounting holes on the
countertop.

Re-check the clearance between the
lavatory, faucet, backsplash, and cabinet.
Adjust the template accordingly.

Drill two ¢ 11 holes at the position marked
on the countertop.

Cut the opening in the countertop along the
inside edge of the pencil line.

Drill faucet hole according to the installation
of the faucet.

7 s AREAVIEAHRASEIEL, REFERIR
RFERTH PRI AL LMD LKL .

o HARRERA. KX, BBRKREENIE
g?@&ﬁ%QWﬁ%EﬂﬁﬁW%E%ﬁ

. BAEAELEMRTAE ¢ 118970,
+ BERVHESUYRHBELN TS
o REBHENA TSR TETL.

& CAUTION: Risk of personal injury or

& CAUTION: Risk of personal injury or

Please cut the cabinet according to the
lines on the template. If the cabinet top is
not flush with the countertop, please adjust

accordingly.

Temporaily position the lavatory on the
countertop, make sure the bolts are fixed
through the mounting holes, and adjust to
proper position.

product damage. Large lavatories are
very heavy. Get help lifting the lavatory
into place.

Trace a pencil line around the outside edge
of the lavatory.

Remove the lavatory, cut the area shown in
the template into a round rim.

Install the faucet and drain according to the
manufacturers instructions.

Apply two beads of sealant to the inside of
the pencil line.
Spread the sealant evenly with a putty knife.

Position the lavatory on the countertop,
then fix it by tight the nuts.

product damage. Large lavatories are
very heavy. Get help lifting the lavatory
into place.

Immediately wipe away any excess sealant,
and fill any voids as needed.

Verify that the lavatory has not moved out
of position.

Allow the sealant to cure for at least 30
minutes before proceeding.

Connect the faucet supply lines.

Connect the drain assembly.

Open the faucet valves, and check for
leakage.

Clean up with a non-abrasive cleaner.

IMPORTANT CONSUMER
INFORMATION (CARE AND
CLEANING)

To keep your lavatory looking new, make sure you rinse it
out thoroughly after each use. DO NOT USE
ABRASIVES on this product, as they will scratch and ruin
the surface. Stubborn stains, paint, or tar can be removed
with turpentine or paint thinner.

Do not use the product in the water below 0°C.

Please do not use hard materials (like scouring pad) to
clean product surface, especially the product logo.

SERVICE PARTS

- : IW////// ’,w
the cutting lines of the cabinet top %4

%\
(FIBRIE

s BRRBEJREVIFIET, HEESEEAT
¥, FENEEEETIEIZ.

s URRANASHL HRELFIREK
L, RIEME.

/N Ml REEBGZGRIRF~R. BA
ﬂ%ﬁﬁ%i.%ﬁkﬁ@—@%ﬁ&
2.

RRERERINZABER S L.
o REBERABITT NEHEEEA.

RBHEBHHOIES] REKEKMHAKE

iE,
o ARESLHAMRLHFDLE.

o FREKITIBEHIKS.

. g%%ﬁﬁﬁéﬁt,%%%ﬂuﬂiﬁﬁ

ds¢®:%%%%§ﬁﬁﬁ%?ﬁeﬁk
%gﬁﬁ%i.%ﬁkﬁ@—@%ﬁ&
Z

o VHBEZRHNHIDLKR, MERBINEEEE
EHLER, B AKIER.
o WNBERZMMUELR.

o RUF=+4H%h, IEHBKTIER, HU4%
FgfTRE,

TR SLHKE,

o EEHIKEER.

o FFRKELRIT, REEEGSR.

o FIEBIRMIBEETIREE.

P

ARFFRBICEFNF . TR RERERFWEPE T,
VIZERBMIEREET, MRATERBEARRANRE.
BB SR, HRSCRME A AR SORR B

#,

AEEOCCTHI/KIERER.
BDERARNLKRFERMRER~RERE, HIE~0H
FRAL.

HIZEMH

Bolt M6 x 60
1244 M6 x 60
1418085
M6 Butterfly Bolt Asm mgtg ég;;e‘ M6
M6 7Y 42 4% 22 45 28 14

[

~~ Rubber Gasket
e BRI
< Washer

R

-

2R

Butterfly Nut M6
Mot 282 1

1472123-T01-A

© Copyright Kohler China Investment Co., Ltd. 2021
© R AR (FE) IREZR/RATAE 2021



